Lec 1/20

A GrwRstes ' L4 S <RV wCS"@ Then  Lollow
0w FR) = :

£-2 A R
(2) G i5en nberior pot of S UTAT 4ng

for oy pein TiDd=S0af st T@) =0, wende o7l
and  lim (“C"YA)(‘&) = L

Lot

»\j shatenents are €0

ﬂv;s L\S 4_ lo"ccl/‘(j l/ﬁj-‘a b J L0 W \?\(\/\M-); ‘g(/)-(‘) )o% net ex.‘é'y'“

(e £y tloo pafhs Y: ako f s Lo, J— Svias $m‘w'sf—\axwa (2)

wd Show thet  lim (Fo?, ) (4) # (€o7,) (&)

{:\>01 L_bof
— x4
&Xamf’l.z'. (’(76/4/\]) = 9(1.L‘72 V£ X%O_
o) rE X= o

(?C, 9)— (0,0)

[\ («be,)(é) = o

Y(f) (0 t) 2o’ s ¢
/t—— = 1w - = oo
J (€) = (f /‘l‘: v (F U )(’t) = L e L=o" ot
z +7ot t2o!
Wl notion of lut Jiplicis i st
Debiition ¢ T SR §:T—R M\mn{ We def e
L«M LY=L H Mmean  Hund Vi70;93>0 Soch 1'1,\,\7
Ko, X €5

o< [R-2l<Y (u ®eS = \£(R)-L]| < ¢

(ww‘/,mw& o 1-904d [mits of 1mver Calcolose [im = lim ,L’l—c.)

%0, %< (0,00) X 20"

bnotir  nohlon ol liwix . Therate) Slvjwvwmbk wits. (comiter n=2)

lwm L L@ =0 s £ Y Sea a0, Felte it 0F K e doke Dot .
(9,7\0 X

Page 1



Precise Defnition 10"

L\

v Fn = weang bt Hezo  con find $S0 and fonany

\0—7‘0 A= N

Y S,A+,sf—.0mj scly-bleg  wecan B o« 5,20 5.t wcorm“j

x  satisfying o<(4<—«|<8\“ a<l‘3—b|<g) we Wnave (%) €dom (£)

4 wo {'F(*lﬂ)*L,(i'
Thgeom (£ | Fluy) =L thum el £00p = L
—_ wqb N a
(“f"’)'s (‘\l\”)
6w o £Cry) ONE dram L e DNE.  (contrupositivne
y->b L\:,‘ " (N> ) b) ! ' )

Frof:

Vee fe ook pnorma ™ Jeduwition O‘F\l\w‘l- G Non 229, ‘FMA Sse S

oL (x4) = (ab)[ LS =5 (ay) edom () ww |£lmy-L] <4
s h./ge_

6= 8,=¢

x 7

. _—

x
Eﬁ%ﬁ FUX{%J: Yo (Y% 205 =)

| W fﬁ(“/”)) DNE. Lot 1w fw ﬁ{—"’/'/)): O.

() (xig) =¢e,0) Y%s xso
=l L H9)
xzy* X=e g=e

& vegion Lor (4 emsted | a
qj CQIVW\i?o/ +u ke >tl) S»);\‘?Jq_(\/j

(i Werks see naten)

@Ml: (HLI\\L"EORZ[) LQ/+ SQ— ‘P\v‘) e 'H’V‘/Q)MOWV"? Nas %UL\II\.L/V"‘L'

QB S RN C/ompa.c«" S+
O 5 (s cwsed M R" aw pounded it respect to ary mormn on R"

Fof

(V=>@).

@) =0

B Haosdontf —> Sis cloed M 1?“. also,
sec R" = Cj R . 3) SNce S compact, tlene 3a Lt

n=1

Vb Covear %B(V\{_) 0) gK_ Then S & B(VMX{WS{: , 0 ) s5 S 7S boande).

=t

Recall S6 e ()rs%u]u-'s»m] rbeJh'% of R

(2

(0)
©

Page 2

Completion oxiom. R= LvR, LFéxR, LER = ol (s

NPT A (wm\/\’f of L Lwy - W\,\,\:\/vm] porvit.

mvua "éub%(;“ 39@ whic W S boouded AaboV ey oy least OF Per bound,
gl\/v\l‘Lw/l\j fonrm j.[-b‘

/



O nested mrervals prperty 2 R s o thfintesinals, (1w 2 -0),

h>oe
’ 1,2I22132 ? 15: Ca‘;)lod‘j) }l—\:’p‘, bJ-va)’ = 0] )

50 1j= 13 ergleton.

NIP =2 Neake) Boxes Proecty. Lt B, 2BZ>_ L be boxes wm R™

BM:[O"V\. b) bvn,lXu.xl:a‘-mn;bm,,l) P\V\) ln\M {bh\j"“mj):b ’\Jjé {')Ulhi

Mm-ore

o A R, - 583 ainglebon,

m i

?(Do—ﬂ Sketch: use box Norvm, Showo closed Lot s ¢ o peet
L < compaet =5 Closed Sk sets of compalt SCTE e oupct

Page 3



